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4.

“The magnetic field arises due to
electric  current roduced b
convective motion of metallic flui

in the outer core of the earth.” This
statement is known as

(1) Joule’s Effect (2) Seeback Effect
(3) Thomson Effect(4) Dynamo Effect
In a series LCR circuit the voltage
across the resistance, capacitance
and inductor is 10 V each. If the
caﬁ)acitor is short circuited, the
voltage across the inductor will be

(1) 10V 2) 102V
3) %V 4) 20V

Choose the correct expression for the
magnetic energy stored in a solenoid
of length / and area A. (Here B is
magnetic field)

1 1

1) s—BA% 2)r - B*Al

M 30 ® 30

1 1
3) mBAﬂ (4) 5 o BA!
A charged particle enters a uniform
magnetic field at right angle to
magnetic field. The field exists for a
lei equal to 1.5 times the radius
of the circular path of the particle in
the field. The particle will be

deviated from its path by
(1) 90° (2) sin™! [%]
(3) 30° 4) 180°

A ring is made of a wire having a
resistance R, = 12Q. Find the ratio of
length 7, to /, as shown in figure, so that
the resistance R of the sub-circuit
8
be’tweenAandBpointsisequalto*jﬂ.
I

A B
7
Iy 3 : kg
M 73 @ =3
L s 1
ffises i 7=
&Fr =3 @).7.=3
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10.

T U, Uh FoiagH 9 o AT aelt &
Tiferefier & | 0T UE SeiEH o G-t
e &1 39 1.813 x 1048 af
U1 H1 FNH 2 (398 Dl GHHMA
m.=9.11 x 10731 kg)
(1) 6.752x 103! kg
(2) 1.675x1035kg
(3) 1.675x 1024 kg
(4) 1.675 x 1027 kg

i i g1y T vd w1 3y
Tﬁm%
1) T=rt @2 T=

Gy = I” 4) T=23031

fom i ﬁ';t{ U qrfehes aftgy d fola
L el

B

C z ”

(1) 1
(2) 0
3) 1
@ 0 0
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1
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1
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10.

A particle is moving three times as
fast as an electron. The ratio of the de
Broglie wavelength of the particle to
that of the electron is 1.813 x 107
The mass of particle is (mass of
electron m, =9.11 x 1073! kg)

(1) 6.752x 1031 kg

(2) 1.675x1035kg

(3) 1.675x102%kg

(4) 1.675x 1027 kg

The half-life of a radionuclide T is
related with its mean life t as

(Bt T=x 2 T

(4) T=23031

= 1/n?

3) T= ln

To get an output Y = 1 from the logic
;ircuit given in figure, the input must be

=g

S e
B 0 -0
G 0 1
h
G 0

Which one of following diode is
reverse biased ?

IIOV
15V
(1) e ™

-5V =10V
Q uuie g ROy

10V
3) H

?10\/'

(4) 5v ~J

2 1

In a Young’s double slit experiment,
12 fringes are observed to be formed
in a certain segment of the screen. If
wavelength of light is reduced to two
third of its initial value, number of
fringes observed in the same
segment of the screen will be

(1) 8 2 12

(3) 18 (4) 36
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11.

13.

14.

A thin uniform rod of length / is
rotating at an angular velocity o about
an axis passing through centre and
perpendicular to rod. As the drawing
indicates, the rod is hinged at two places,
one quarter of the length from each end.
Without the aid of external torques, the
rod suddenly assumes U shape, with the
arms of the U parallel to the rotation
axis. What is the angular velocity of the

rotating U shaptlad body ?
&/
i
L T
<L/4> <L/4>
1) o @) 150
3) 20w 4 30w

If M is mass of proton and m is mass
of electron, then reduced mass of
hydrogen atom is

(1) Zero ) “‘m
1+—

M

m m
el o I
M

In centre of mass frame of reference

(1) The momentum of each particle
of system is zero.

(2) The kinetic energy of system
never be conserved.

(3) The total linear momentum of
particles of system is zero.

(4) A pseudo force must act as this
is always non-inertial frame.
The band width required for TV
signal transmission is approximately
(1) 300 Hz (2) 20kHz
(3) 6 MHz (4) 600 MHz
05 (Science)
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1 F & - (T8 p — HIEAH 6T 5,
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1
®3) 3 pw?A ¢ % ZmZA

17.  0.72 m o s el TR 61 §oa9H 5.0 x
1073 kg ® | afe AR 60 N THTE & HAHH

R A ar # agyed qor i 9w gl
THA

(1) 9.3 ms™! (2) 93ms!
(3) 111 ms™! (4) 201 ms’'

18. T 30 1 UTEA

() z=Ly=-2

) =1, y=2
3) x=-1,y=-2 (4 x=-1,y=2

19. 300 Qe i YU PRI a1t et
ST 3T 3000 S 3 TR SR
0 I —1% ® 9T & a4 deis %
FHEHGA TUTIS T T &
(1) 2.3s1 @) 0235

(3) 0.023s! (4) 1.08s”
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In low driving frequency condition,
the amplitude of forced oscillator
depends upon

1)
()

amplitude of driving force only

amplitude of driving force and
force constant

(3) damping force and mass of

oscillator

(4) damping force and force constant

The amplitude of progressive wave
is A and its angular frequency is ®.
The expression for energy density of
the wave is (Here p — Density of
medium, v — velocity of wave)

| 1
(1) 7po’A? (2) 5pv?A?

G) Spo'A () 3p%0%A

A steel wire 0.72 m long has a mass
of 5.0 x 1073 kg. If the wire is under
a tension of 60 N, the speed of
transverse waves on the wire is about
(1) 9.3ms™ (2) 93 ms™!

(3) 111 ms! 4) 201 ms™!

The mean free path of gas molecule is
proportional to x" power of number
density and y* power of diameter of
molecule. Here x and y are

@ x=1,y=-2 @ x=1y=2
(3) x=-1,y=-2 (4) x=-1,y=2

The amplitude of a oscillator of

frequency 300 oscillations per
1th . ians

second, reduce to 10 of its initial

value after 3000 oscillations. The
damping coefficient of oscillator is
(1) 255" @). 035!
(3) 0.023 s (4) 1.08s7!
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20.

21.

22.

24.

Two waves having intensity in the
ratio 25:4 produce interference. The
ratio of the maximum to the
minimum intensity is

1) 5:2 2) 73

(3) 49:9 (4) 125:8

In a Young’s double slit experiment,
the wavelength of light is A and
distance between two sources (slits)
is d. If the screen is moved away
from the plane of the slits, the
angular separation of the fringe

(1) increases

(2) decreases

(3) may increase or decrease

(4) remains constant

Choose the property which changes
in general for superconductivity
transitions of metals.

(1) X Ray diffraction pattern

(2) Elastic properties

(3) Specific heat

(4) Photoelectric properties

The total number of possible wave
functions in any energy band for a
linear crystal of length L is equal to
(Here N = Number of unit cells)

] @ N

2

N
@) N @ >

The root mean square speed of
oxygen molecules is v. If the
temperature is doubled and the
oxygen molecules dissociate into
oxygen atoms, the root mean square

speed will become
M) % @ v
3) w2 4) 2v

05 (Science)



25. 0;. 0, 0,71 05 F &Y HR
HHAT: E‘Fﬁ:
(1) 15,2.5,2.0711.0
@) 2.0,2.5, 1.5 1.0
(3) 25,1520 1.0
(4) 25,2.0,1.57411.0

26. TS O, 3q: higd BHIT a9 9"
Fifas vgfora o A S gwal
ShHST: % x
(1) 52.4%, 68% a1 74%

(2) 52.4%, 74% a1 68%
(3) 74%, 68% q41 52.4%
(4) 68%, 52.4% T 74%

27. Tr=fafigs 4 @ g &1 98 o1 <t 9
T T TGl B
(1) I gE
(2) ST
(3) BTE
4) T HETH

28. frfafea wfisfis NH,*, PC,
aem [PH(CD),> #
GehUul I Hal A
(1) sp?, sp’d? sp
(2) dsp?, sp?, sp?d a1 sp3d?
(3) sp’, sp’d, sp’d® T dsp?
(4) dsp?, spd, sp® a1 sp’d?

29. Qi ] | oX AT 5oY B e
o &, ¥ At ¥ o i St
=T T A &
(1) 12
(3) 48

05 (Science)
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25. The bond order of 0;, 0,, 0, and Og_
will be respectively :
(1) 1.5,25,20and 1.0
(2) 2.0,2.5,1.5and 1.0
(3) 25,15,2.0and 1.0
4 2.5,20,15and 1.0

26. The packing efficiency in simple
cubic, body centred cubic and cubic
closed packed lattice is respectively :
(1) 52.4%, 68% and 74%

(2) 52.4%, 74% and 68%
(3) 74%, 68% and 52.4%
(4) 68%, 52.4% and 74%

27. The property of liquid among the
following which increases with
increase in temperature is
(1) Vapour pressure
(2) Viscosity
(3) Surface tension
(4) None of these

(1) sp>, sp°d?, sp°d and dsp?
(2) dsp sp3, sp’d and sp d?
(3) sp>, sp°d, sp’d? and dsp?
(4) dsp?, sp°d, sp’ and sp3d?

6 28. The correct order of hybridisation of
the central atom in the following
species :

NH,*, PCI, SF and [Pt(C),]*" is :

29. Two elements are represented as {gx

and §‘5'Y, the ratio of neutrons present
in the atoms of these elements is

(1 1:2 (2) 49

(3) 48 4) 24
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32.

33.

34.

35.

36.

Frefafea 48 i sas a5 H

T R

(1) [CoF]*, [FeFg]*, [MnCl]*

(2) [MnCI >, [Mn(CN)g]*~ [CoFg]*

(3) [MnCl >, [CoNH,)I*", [FeF g~

(@) [Co(NH;)gl**, [Mn(CN)gI*~,
[Fe(CN)g]*

[Cr(H,0)(]Cl; @91 [Cr(H,0)5Cl]

ClyH,O a8 :

(1) Sg-t qHEEEd

(2) STHEEANSH FHEIEA!

(3) A HEEEA

(4) ToeasaisH gHEIEAT

fodia amad & ol % YW ST

Ut 91 1 FE AR
(1) B<Be<C<O<N
(2) Be<B<N<C<O
(3) Be<B<C<N<O
(4) Be<B<O<N<C

SR TS fa=rd 4d458! aret
T 1 AE greft § 3vaEd aun @il
mm%

1) 3,4 () 4.3

(3) 4,5 4) 5,
ffofea o _

facTan

(1) PbS ( :

(3) CuS (4) ZnS
FTUETERITE 310 1 Al 8

M 1 ). 3

(3) 4 4 2
Cm3ﬂ'\ﬂ1ﬁﬁf%:

(1) Prepwi fgfmfrd

(2) T THA!

(3) T- 3pia

4) =i faofrd

30.

31.

32.

33.

Set of Inner orbital complex among
the following is :

(1) [CoF >, [FeF >, [MnCl¢]*~

(2) [MnClgl* [Ma(CN)I*,
[CoFgl*

(3) [MnClgJ>~, [Co(NH,)eI™", [FeFgl*-

(4) [Co(NH,)eJ**, [Mn(CN)I*",
[Fe(CN)l*-

[Cr(H,0)(]Cl; and [Cr(H,0)5Cl]

Cl,-H,0 exhibits :

(1) Linkage Isomerism

(2) Coordination Isomerism

(3) Ionisation Isomerism

(4) Hydrate Isomerism

The correct order of first ionisation

enthalpy value for elements of II

period is :

(1) B<Be<C<O<N

(2) Be<B<N<C<O

(3) Be<B<C<N<O
(4) Be<B<O<N<C

"The period and group number of an

element having outermost electronic

configuration 4d*5S! are respectively
(1) 3.4 (2 4.3

(3) 4.5 4 55

The sulphide among the following
has the highest solubility product is :

(1)« PbS (2) CdS

(3) CuS (4) ZnS

The basicity of Orthophosphorous acid is
(1 1 2) 3

(3) 4 4 2

The Geometry of CIF; is :

(1) Trigonal bipyramidal
(2) Square planar
(3) T-shape
(4) Square pyramidal
05 (Science)



37.

38.

39.

40.

41.

42.

43.

F21o T & FTU Eed e 2
(1) q=+W 2 q=0
(3) AE=q (4) PAV=0

| 37

38.

39.

Correct statement for Adiabatic

process is .
() g=+W () q=0
(3) AE=q (4) PAV=0

Which one of the following is not a
natural polymer ?

(1) Teflon
(3) Protein

(2) Starch
(4) Cellulose

The disproportionation  redox
reaction among the following is :

N,(g) + 0,(g) —> 2NO(g)
2Pb(NO,),(s) —> 2PbO(s) +

€]
2

N,(g) + 0,(g) —> 2NO(g)
2Pb(NOy),(s) —> 2PbO(s) +

1
INO,(g) +30,(8)

NaH(s) + HO() —
NaOH(aq) + Hy(g)
2NO,(g) + 20H (aq) —>

NO, (aq) + NO;(aq) + Hzo(l)
TTge 7o Ger (C ) B T T
=1 Gepfta sraeand a8
(1) spa¥sp? (2) spaTsp’
(3) sp*@isp®  (4) sp?TTsp’

H ITEHE |

3

)

Fifaa 1 5 2
(1) H,S0,
(3) H,;5,04
Frfafaa § § sgdi= RS 2
(1) N,0, @) N,0,
3) N,04 4) NO

) H,80,
(4) H,8,0,

fraffag A U 2
(1) Z=HE (2) T
(3) SeHETETIET (4) T

05 (Science)
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40.

41.

43.

INO,(@) +30,(®)
NaH(s) + H,00) —

NaOH(aq) + Hy(g)
2NO,(g) + 20H (aq) —>

NO, (aq) + NO; (aq) + H,0()

(3

)

The hybridised states of carbon atom
in  graphite and fullerene (Cgo)

respectively are :
(1) spandsp? (2) spandsp’
(3) sp’andsp®  (4) sp?and sp?
Malachite is an ore of S
(1) Aluminium (2) Iron
3) Copper (4) Zinc
e formula of oleum 18
(1) H,S04 (2) H,S0,
(3) H,S,04 4) H,8,0,

Neutral oxide among the following
is

(1) N,0;4 (2) N,O,

(3) N,Oq (4) NO
Intensive property among the
following is

(1) Mass (2) Volume
(3) Heat capacity (4) Pressure



45.

46.

47.

49.

QAT ST
@4—3(::2 e [A]

g sAfifsa 1§ e [A] 8T
(13681 ) CHClq
(3) CCi, (4) CHCI

ﬁi-‘lwagaaﬁﬁ’rmsmﬁ%

(1) IR a1 HHCSIEES

(2) HTe T FHCSIEISS

(3) uftref wergie au1 A I

(4) e e au S
I

KMnOy/H'
CH3_CH=CH—CH3_—-;‘/H—>[A]

I TRt 3@ [A] R :
(1) CH,-CHO
(2) CH,-CH-CH-CHy

Ll
OH OH

(3) CH,COOH
4) (:1:12 — CH,- CH,-CH,
I

OH
Bier T8 1 I 2

OH I

CH, — CH =CH, + HBr

HsCO),0
(CeHsCORO0% o1, - cH,— CH,~Br

|

|

!

I

!

mm%: %
|

|

I

|

45.

46.

47.

49.

UVlight
@ =+ 3CIZ_S'0TK_> [A]

The compound [A] in the above
reaction will be

(1) CCly (2) CHClg
(3) CClg (4) CHCI

Monomer units of polymer Glyptal are
(1) Urea and formaldehyde

(2) Phenol and formaldehyde

(3) Ethylene glycol and Phthalic

acid
(4) Ethylene glycol and
Terephthalic acid
KMnOyH "
CH,—CH=CH—-CH, A 14
The product [A] in the above reaction
9
(1) CH,-CHO
(2) CH,—CH - CH-CH,
l l
OH OH
(3). CH,COOH

@) Cfliz — CH,-CH,- CIrllz

OH OH
Example of Fibrous protein is

(1) Haemoglobin (2) Albumin

(3) Insulin (4) Keratin
Non-reducing sugar among the
following is :

(1) Glucose (2) Maltose
(3) Lactose (4) Sucrose

CgHsCO)0
(CeHsCONI3 oy, - cH, - CH, - Br
The above reaction is :

(1) Electrophilic addition reaction

(2) Electrophilic substitution
reaction

(3) Nucleophilic addition reaction

(4) Free radical addition reaction

05 (Science)




51.

52.

53.

33.

56.

- ¥ 55

RNA # SufRra T1egisr &1 & 51. Nitrogenous base present in RNA is
(1) Adenine, Guanine, Cytosine,
(1) A, =, g, e | i
(2) WA, ared, T, [ea Q) Adcr}%ne, Thymine, Cytosine,
(3) A, =, arfE, e Urasil , ,
{ (3) Adenine, Guanine, Thymine,
) e, g, i, wTdE Urasil,
(4) Adenine, Urasil, Guanine,
Sr=fafiag 3 & wheee awar siva R Cytosine
(1) FARSEREE 52. Antifertility drug among the
following is
@ T Iul o i (1) Chloroxylenol
(3) i ! (2) Norethindrone
(4) FRPhHA | (3) Terpineol
_ (4) Chloramphenicol
9 & e H i :nszga (50 ppm 53. The disease caused by excessive
 arferep) @ ATR : nitrates (Above 50 ppm) in drinking
(1) PUINIRCHIER]] water 1S :
) oo E"ﬁ (1) Pernicious anacmia
(3) JAffeamRmE o (2) Xerophthalmia
(4) AATREAATERT (3) Osteomalacia
- _ (4) Methemoglobinemia
XeOF (61 il 54. TheGeo £ XeOF, molecule s :
(1) Fiffdt () FEeEHE "N mﬁwo_ St
(3) afamaefa  (4) SgSHEEHE (1) Square pyramidal(2) Octahedral
(3) Square planar (4) Tetrahedral
TR Tt Geft Ieh o SiTafeH HEn SR : :
orphyrin or oxygen storage in
%ﬁﬂ!lgifl@lﬂ’l%,ﬁ's’% muscle tissue is
g; Eg - 1) -Haemoglobin (2)“Myoglobin
3) Ferredoxin  (4) Cytochrome
fPrefafgad 8 1 £=o)
3 The set of coloured ions among the
' i following is
(O V¥, Ti%, Mn>* | (1) V3, Ti*", Mn**
G B N i 2) S, Mn*, Tit*
G) T Cr;,V : ; 3. TSN
4) Ti’",Zn , Or? i @) Ti**, 7Zn2t, Cr2*
fra faaftm & dwar @ womsh | 57 Deficiency of which vitamin causes
EAeIaT AT a8 ? l pernicious anaemia disease ?
(1) ﬁa-ﬁ:[Bl ) ﬁaﬁqu I (1) VitaminB, (2) Vitamin B,
(3) feafd B @) faaf@B,, | (3) VitaminB, (4) VitaminB,,
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58.

59.

60.

61.

62.

63.

Sb,S, % FUTAR HIAEE & Thad
2 Tiferes gt o 2

(1) Ba?* (2)_Ca?*

(3) AP* (4) Na*

Trefifiaa o @ waifus sreia Afie 2 :
(1) o—TEghEATA

(2) m —TEIHHEA

(3) p-—AEREATA

4) o—hEid

Fraferfiae 3 ety T & -
(1) CH,-CH,-NH,

(2) (CH,—CH,), NH

(3) (CH,CH,); N

(4) C,H,~NH,

g AT S BT AR a1 B
(1) CH,—CHO

(2) CH,~-CH,-CHO

(3) C¢HCH,— CHO

(4) C(H,CHO

ster itz affimar 3 fora s
HTAM 6.93 x 10351 & | sfsparht

Fgag anft

(1) 10s 0
(3) 1s .

§\2

i Tramsfiear ST sFa 2
(1) (CH,);C-Br<(CH;),CH-Br
- <CH;-CH,-Br<CH;-Br
(2) CH;-Br < CH; - CH,-Br <
(CH,), CH-Br<(CH,); C—-Br
(CH;); C-Br <CH;-Br <CH,
—CH,—-Br <(CH,), CH-Br
(4) CH;—CH,- Br <CH;-Br <
- (CH;), CH-Br <(CH,); C-Br

€))

8

|
|
|
|
!
I
|
I
|

=
~

58.

39.

61.

The most effective cation to
coagulate the negatively charged
colloid of Sb,S, is

(1) Ba? (2) Ca?*

(3) AP* (4) Na*

Most acidic compound among the
following is

(1) o — Nitrophenol

(2) m — Nitrophenol

(3) p— Nitrophenol

(4) o—Cresol

Weakest base among the following
is:

(1) CH;-CH,-NH,

(2) (CH;-CH,), NH

(3) (CH,CH,); N

(4) C¢Hy—NH,

The compound which gives
Cannizzaro’s reaction is

(1) CH,-CHO

(2) CH,-CH,-CHO

(3) C,HCH,-CHO

(4) C,H,CHO

Rate constant for first order reaction
is 6.93 x 103571, The half life of the
reaction will be

(1) 10s (2) 1000s

@) 1s " (4) 100s

The order of reactivity of alkyl
halides towards S\ 2 reactions is :
(1) (CH;);C—Br<(CH;),CH-Br
<CH;~- CH,— Br < CH;—Br
CH,- Br < CH, - CH, — Br <
(CH,), CH-Br<(CH;); C—Br
(CH,); C—Br <CH;—Br <CH;
—CH,-Br<(CH;),CH-Br
CH; - CH, - Br < CH;— Br <
(CH,;), CH—Br<(CH;); C—Br

@)

3)

(4)

05 (Science)



64. HEH (Cm) ¥ ORI B9 8

65.

66.

67.

[2=96]

(1) [Rn] 5f7 6d! 7s°
(2) [Rn] 5f7 6d° 7s?
(3) [Rn] 5f76d' 7s*
(4) [Rn] 5f76d°7s'

s Aga FA-JEE F 2.00 g H
100 g ¥l & Eem ot 39 fewiss |
0.40 K &t %+t &1 ikt 2 | <l T
famish s7ae fR® 5.12 K kg mol ™!
2 | fye =1 HieR gogHE B

(1) 250 gmol™!  (2) 252 gmol™
(3) 256 gmol™!  (4) 258 g mol™!

ferfor Esmmit 3 fore 3w St 1

EEETE

(1) s 3c*>n>c*>n—>n*>
n— m*

2) r>n*>n—>c*>n—>n*>
c—o*

3) c>c*>n>7*>n—>G*>
n—> n*

4 no>nm*>c—>0c6*>n—>0
- noTr>

25 °C W Hifeam
3 IR FifeIw
A1 9T e =rerhal A 91.00,
426.16 3 126.45 S em? mol ! @
Aefifeer e i I aga W R
TreAehal &Rt —

(1) 266.01 S cm?mol™!

(2) 450.71 S cm?mol™!

(3) 390.71 S cm?mol™!

(4) 395.71 S cm? mol™

A~

05 (Science)
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64.

65.

- (3) 256 g mol™!

-‘molar

Electronic configuration of
Curium (Cm) is [Z = 96]

(1) [Rn] 5{76d' 7s°

(2) [Rn] 5{76d° 752

(3) [Rn] 5f76d! 75

(4) [Rn] 5f7 6d° 75!

2.00 g of a non-electrolyte solute
dissolved in 100 g of benzene
lowered the freezing point of
benzene by 0.40 K. The freezing
point depression constant of benzene
is 5.12 K kg mol~!. Molar mass of
the solute will be
(1) 250gmol™ (2 252 g mol™
(4) 258 g mol™

The correct order for the energy

required for various transitions is

() c>oc*>n>ct>n>7t>

. N7

@y r3>n*>n—>0c*>n—>n*>
c—>o*

@) c»oc*>n—o>n*>n—>c*>
n—> ¥

(4) n>n*>c—>c*>n->06%>
nt —> ¥

e molar conductances of sodium
tate,  hydrochloric  acid and
sodium chloride at infinite dilution
are 91.00, 426.16 and 126.45 S cm?
mol-! respectively at 25 °C. The
conductance at infinite
dilution for acetic acid will be

(1) 266.01 S cm?mol™!

(2) 450.71 S cm? mol™!

(3) 390.71 S cm? mol™!

(@) 395.71 S cm? mol™!



68.

69.

70.

15

oA & fo anaeEs fisiis wied
T AT R

(1) e e,

(2) ks ShuA.T.

(3) femmrdleay

(4) 3yt g+t
Fraferfaa § & 9 91 TguUss gl W
TR S AT e S bl b Terd 8 ?
(1) wrsfeA 2) ==

(3) Hegerst 4) e
TS T % TaEd I6 b gy
T A el o) TEraT & FEl I
1 = HITIT :

a VRT3 I StfafE e i |

b. U THE I =g g UREg T |
c. TYF, qUTves® ud e |

e :
(1) a,baATc (2) ad@dT¢
(3) ad¥dTb (4) bddle
Fiem-1 1 fo3 & ST i ieH-11
3 fod 713 vt @ gfera Hifere oot fed
W@%a‘é’rmwwaﬁﬁq
EEIF-FI—II
a.
b. Waﬁzla
C.
d. ST, v. fa@a?fﬁ.@.q
IEIE * W= IuiRIa
FTESre = Rl
I BT |
e :
a b c d
1) iii i il v
;2% iii i iv, il
2 | ii iv il
@ i i i v

ﬁ

|
!
|
|
|
|
|
!
|

=
-3

68.

69.

71.

a.

b.

Pribnow  box essential for

transcription is found in
(1) Eukaryotic DNA
(2) Prokaryotic DNA
(3) Viral DNA

(4) All of these

Which of  the following
polysaccharides is the most abundant
organic substance on earth ?

(1) Chitin (2) Starch

(3) Cellulose (4) Inulin

In relation to the vascular bundle of the

monocot stem, select the correct
answer with the help of the following :

a. Irregular arrangement in ground
tissues.
b. Not enclosed by a clear bundle

sheath.
c. Conjoint, collateral and closed
Codes :
(1) a,bandc (2) aandc
(3) aandb (4) bandc

Match the structures given In
column-I respect to their function
given in column-II and choose the
correct answer from given codes :

Column — 1 Column —11
Nucleosome i. Termination of
polypeptide chain
Termination ~ ii. Binding DNA
codon strands
Helicase iii. Repeating unit of
chromatin
DNA ligase  iv. Breaking of
hydrogen bonds
between double
strands of DNA
Codes :
a b ¢ d
() = i iv
@) 11 v il
3) i | e " g < (]
4) 1 i i i

05 (Science)



72. o +ifed A, B9 C fgw I A
I 5 & | 7 s ol i e
uaﬁhfﬁmla

C

OP=50]0P=40|0P=30
TP=45 | TP=30 | TP=23

(1) A B->C (2) A->B«C
(3) A«B«C @4 A«<B->C

18 § H a1 ufEl g9 g5 TRy |
forgl N, el gasiia sufea 2 2
(1) ThIIET SHEE

(2) e edien

(3) e FEEHEBIRT

(4) TR el

74, 98 9H @ ®u9 ¥ et = R,
HIWHST qLT HOT | 39 T &I I
R ¥ R e Fefafea =w
s d A S M e g R |

A, 3fe 3t iR e SR TEl
- § T iy <t wE ST
@S |

B. afe gFi sifrerda qum SR Hal
2 utg s Afwya 6 el
ST T T E R |

c. afe fieyw wdt B, W

73.

HE AR |
m:%m%w@:ﬁﬁ@mél
(1) A (2) B
(3 C
75. mwﬁ@mmﬁﬁﬁ@
ISl ST, |l §AT SASTISHEA,

Tt ue 3i il dfiee=mE 2
(1) stk (2) GreAEt
(3) HreaH! (4) orgfmE

05 (Science)
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72. Three cells A, B and C are joined in
linear manner. Demonstrate the

direction of movement of water in them.
A B

OP=50|OP=40|OP=30
TP=45 | TP=30 | TP=23

() A-B->C (2) A-B&«C
3) A«B«C (4) A«<B->C

73. Which of the following is a

flowering plant with nodules

containing filamentous nitrogen

fixing micro-organisms ?

(1) Crotolaria juncea

(2) Cicer arietinum

(3) Casuarina equisetifolia

(4) Cycas revoluta

The question consists of two statements,

Assertion and Reason while answering

the question. Choose any one of the

following four responses.

A. If both Assertion and Reason
are truc and the Reason is a

correct explanation of the
Assertion.

B. If both Assertion and Reason
are true but Reason is not a
correct explanation of the

.O

74.

C. If Assertion is true, but Reason
is false.

If both Assertion and Reason
are false.

ssertion : Biosynthetic phase of
photosynthesis is known as
Dark Reaction.

Reason : It takes place in absence of

light.
1 A @ B
3) C 4 D

75. Which family has special features of
having superior ovary with swollen
placenta and oblique twisting of the
ovary with axile placentation ?

(1) Brassicaceae (2) Solanaceae
(3) Malvaceae (4) Leguminosae
o



76.

77.

= Al R R hife

i wf dwEw WA dW g W
et § J9 TRt
wfafranail S AT 2 |

i, fo Brmam i aa g

I3 A et & i

AR |

iv. T foreht vt fufsrn 6
Ry H 9@ & Hishau S Bl
G |

FHRHI A DA AT B ?

(1) i3MWii (2) ii 3R i

(3) iii 3 iv (4) iv3i

frfafiga § & +19 @1 % IW o

gafra g ?

(1) uswhfes s i & T

Frba e |

2) SusetH - Wl g W st

(3) wrgevrstaA - ivfar # &

4) frestfem  : Jad AfaEn

T

iil.

78. IR fafEor St DNA =i &

79.

80.

vEaTd &

(1) T TRt
(3) st
AT
(1) JI*Y
(2) v&d ag SR 8

(3) ™ ST

(4) T A BT

freEifaafes 3na 9% o A=W
3?‘3"3%

(1) CO, TS

(2) CO,aYT NADH

(3) NADH a1 FADH,

(4) CO,, NADH a1 FADH,

2) X

76.

77.

.

Consider the following statements :

i.  All enzymes are proteins which
catalyse biochemical reactions

in the cells.

ii. Enzymes exhibit substrate
specificity.

iii. Enzymes are denatured at high
temperatures.

iv. Enzymes enhance the rate of the
reactions by increasing the
activation energy of reactions.

Which of these statements are correct ?

(1) iandii (2) iiand iii

(3) iiiandiv (4) ivandi

Which one of the following is

incorrectly matched ?
. (1) Abscisic acid : Controls
stomatal closure
(2) Ethylene : Accelerates fruit
ripening
(3) Cytokinins : Delay of
N5 150 senescence
(4) Gibberellins : Causes tropic
movements

Non-ionising radiations damaging
DNA are

(1) Gamma rays
(3) Betarays

(2) X-rays
(4) UV rays

Intervertebral dises are composed of
(1) Elastic cartilage

(2) White fibrous cartilage

(3) Hyaline cartilage

(4) None of these

The end product of Tri Carboxylic
Acid cycleis:

(1) CO, and water

(2) CO, and NADH

(3) NADH and FADH,

(4) CO,. NADH and FADH,

05 (Science)



81.

82.

83.

84.

85.

05 (Science)

A g I wE R

(1) =viehi %1 ScaTEH

(2) & iR = fasE

(3) Tt I G ST

(4) TS Td SRR I J6U

AR 1 qAYau € SR B :
(1) Na‘®rafeate (2) K =i afede
3) Na*®1 3iqate (4) K"l Jaaie

zea e & @ Ul = &

frefa @ 2

(1) SA7E - gfsst dg —> AV IS
—» g8 A% f&d

(2) AV IS —» Ssd ATE 78 - SA

(3) SATIE > AV T8 — ¥ ITH
fam > qfhat ad

(@) TS ag - AV T8 - SA T
— S AS f2E

e 3 Ty i T g e A
22

(1) T fog - 1891 @veg
2) 9= fog - wfi@s
(3) yphuTieant fog

(4) AT — 587

Freafafaa amg
¥ e SHEE S T g @ R 2

T -

a3
-

|
|
|
|
;
|
|

81.

82.

83.

84.

The function of the

hormone is :

(1) Production of pigment

(2) Development of mammary gland

(3) Reabsorption of water

(4) Secretion of androgen and
testosterone

prolactin

Repolarisation of Neurons occurs
dueto:

(1) Efflux of Na® (2) Effluxof K"
(3) Influx of Na* (4) Influx of K*
Origin of heart beat and its
conduction is represented by

(1) SA node — Purkinje fibres —
AV node — Bundle of His

(2) AV node — Bundle of His —
SA node — Purkinje fibres

(3) SAnode— AV node — Bundle
of His — Purkinje fibres

(4) Purkinje fibres — AV node —
SA node — Bundle of His

Which pair is not correctly matched
in relation to earthworm ?

(1) Male genital aperture — 18™ segment
(2) Nephridiopores — All segments
(3) Spermathecal apertures — 5% to

9th segments

) Oesophagus - 5™ to 7" segments

at type of human population is
represented by the following age

Post-Reproductive
Reproductive

Pre-Reproductive
(1) Stable population

(2) Declining population

(3) Expanding population

(4) Vanishing population



86. wervi wa foaferdt # fom fafor =

FEILE- &
(1) XX-XO (2) XX-XY
(3) ZO-ZZ &) ZW-Z7

87. Uicimis S@an AHfwiHar (PCR) 9
owm o= O Ui
(RFLP) faferi &

(1) FEfe i & fad |
(2) DNA 37sFau & ford |

(3) AT T for |
(4) TTEH 3T & ol |

88. foge fagmar @
(1) WAfdsT a amdirst i
(2) TEIEArSHE TS Hi
(3) Wferer 9 Hise i
(4) ERE 7 3nyrer i

reyl o hiv & HYE | U1 & T del
FHa 6 8 ?

(1) gEAeEe (2) HSrHmEer
(3) FHFEwEa (4

90, 3= yadiashl 31UE T HHIA JeHI I

WWW%:

(1) TAPNT () mﬁqyfaﬁh

(3) Tdam st @)

91. Tr=fafaa
He™ —
a. S . —
b. 9TE q. &% e wores b |
c. SIfe r. SR !
d. ®ie" s. Sifer bt It I
| t. TRYA fagia l
T {
G Y R | E
(3.8 o g 8 |
@) -p - Qo ‘
(3) t q S r
@yopsiiar, wideiieyq |
o 18

86.

87.

88.

89.

91.

The type of sex determination in

moths and butterflies is :
(1) XX-XO (2) XX-XY
(3) ZO-ZZ 4) ZW-ZZ

Polymerase Chain Reaction (PCR)
and Restriction Fragment Length
Polymorphism (RFLP) are the
methods for

(1) Genetic fingerprinting

(2) DNA sequencing

(3) Genetic transformation

(4) Enzyme study

Metameric segmentation
characteristic of

(1) Annelida and Arthropoda

(2) Echinodermata and Arthropoda
(3) Annelida and Chordata

(4) Platyhelminthes and Arthropoda

is the

Which group of plants have embryo
but no vascular tissue ?

(1) Cyanophyta (2) Pteridophyta
(3) Tracheophyta (4) Bryophyta
In highly telolecithal egg, the usual
type of cleavage is :

(1) Equal Holoblastic

(2) Unequal Holoblastic

(3) Discoidal Meroblastic
(4) Superficial Meroblastic

Match the following and find the

correct combination.
Column - I Column - II
a. DeVries p. Special Creation
b. Pasteur q. Swan-Necked Flask
Experiment
¢. Darwin r. Protobiosis
d. Fox s. Origin of Species
t. Mutation theory
Codes :
a b < d
(e~ g g -8
(2) - GEBEE
B t q S I
o T R B

05 (Science)



92. fFrefefia Stareli & & i &1 370 Fel
Ty o % @1y Ae R gam 2 ?
(1) afeaied : He
(2) wEIHNE - =
() ureiamEIE : FfieE wE
(@) i : Feged B

93. wa% Bl & ew W H

ST B & 3T S = B
F H T2, wead &

(1) Frmenferbra  (2) wHRf
@) et (4) e
94, Py ghfeTa el e 1 T hIfSL :

m THRR
a. Wﬂ’ﬁﬁ i 3?)3?29;75%)"7
fream HobeH
b, el w1 fRwbT i, Togl BT
[
c. SUHIENG il FHERT
CISiRw RfBIEHIT
d. T &1 & iv. AR
fepae T Afewrer
%
a b
(@) { i
(2)- ik, ML
(3-8 1
4 1 i
95, Frfefea fea
e ad & foed sgewm § haw
frew, wTH § Sl gF 3R B
&fram 7l gran ?
(1) FEwEE  (2) e
() IFEEEE  (4) Qe

96. o=t i & feeroy i T AE 2 -
(1) S =1 g v A
) oot =1 dieft fRm wise T
(3) e 1 3 e U
(4) TR 1 ol e T

05 (Science)

92. Which one of the following Algae is
correctly matched with its reserve
food ?

(1) Volvox : Mannitol

(2) Ectocarpus : Starch

(3) Polysiphonia : Floridean starch
(4) Vaucheria : Volutin granules

93. Fungi which requires two different
hosts to complete its life cycle is
called as :

(1) Heterothallic
(3) Dioecious

(2) Autoecious
(4) Heteroecious

94. Select the correct code by match the

following :
Disease Causal Organism
a. White rustof 1. Colletotrichum
Crucifer falcatum
b. Tikka disease  ii. Albugo candida
of groundnut
c. Green ear iii. Cercospora
disease of bajra arachidicola
d. Red rustof iv. Sclerospora
sugarcane graminicola
Codes :

a b C d
(N i i iv il
@ ii i v i
G B i . 3
)y ii i Iv

ich of the following group has
sporophytic plant body with only
trachieds in xylem, sieve tubes in
phloem and no cambium ?

(1) Bryophytes (2) Pteridophytes
(3) Gymnosperms (4) Angiosperms
Which of the following is not a virus
borne disease ?

(1) Little leaf of brinjal

(2) Yellow vein mosaic of bhindi

(3) Bunchy top of banana
(4) Leaf curl of papaya



97.

98.

99.

100.

& Tave % 3ga & ol fm A |

AEEH AR &

(1) Teremsfiemogesan

(2) st S gmeiefie fiet i
B

(3) Wfireh 5= B ot Y AFERED A
fa

(4) e @ fewemft ®v @

Teeftaoperr 8 fRr Td 7 |
39 3N Hew aret UIeyl # i Th
AFASGTHR?
(1) gedtasrE  (2) gFmaEm
(3) FAqEAE  (4) JIFmAEm

T & S & fohE wer ot TaifhfeeE
% 37T T8 TET ST Hehal ?

a b [ d
(1) (X Mo ML, - IV
(2) it i i iv
(3) ii iv i iii
4 1 iv: Al

97.

Which of the following is not
essential for evolution of seed habit ?
(D
2

Heterospory
Reduction of a free living
female gametophyte

Freedom from compulsion of
water for sexual reproduction

3)
(4) Megaspore is not persistently
stable in megasporangium.

Which of the economically
important plants are members of the
same family ?

(1) Liquorice and Cotton

(2) Coriander and Asafoetida

(3) Cotton and Jute

(4) Opium and Asafoetida

Which of the following modes of
reproduction cannot be kept under
Apomixis ?

(1) Parthenogenesis

(2) Apogamy

(3) Apospory

(4) Sporophytic budding

. Match the sub-stages of Prophase-I

(Column-I) with related
phenomenon (Column-II) occurring
in it and choose the correct code :

Column — | Column - I1
a. Pachytene i. Chiasma
b. Zygotene ii. Crossing Over
c. Diplotene iii. Degradation of
Nuclear membrane
d. Diakinesis iv. Synapsis

Codes :
a b c d
(1) 3 i i 1v
(2) i 1 i iv
B) i iv i iii
“4) 1 iv - o 1
05 (Science)



101. Fr i A s Agm ad gifea & 2

a) Twmfagr  Tieciawh!
(b) T oE fagra TS, S
(¢) TS Tl UiteheaHT : .21 FR
(d) w1 fag : W% 8ol
@ g

(1) (a), (b)TUT(c) (2) (2), (c)TAT(d)
(G) GTd @) @F()
ey FIeh-11 &1 YUH SRl 8
(1) B () F=EH

@) frwmfa @) e
va@T § NADH ¥ Jiiaefiestor & g
TR afEe JEe § ATP % fehad
O A B 2

1) 2 2 3

(3) 24 @) 36

fafafigs deawst # & B @

102.

103.

104.

A
O H

H
|
N

105.
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103.

104.

101. Which of the following pairs are
correctly matched ?

(a) Relay pump theory: Godlewaski

(b) Cohesion Tension : Sir. J.C. Bose
Theory

(c) Starch Sugar : J.D. Sayre
Hypothesis

(d) Theory of : Stephan
Capillarity Hales

Select the Correct Code :

(1) (a), (b)and (c) (2) (a),(c)and (d)
(3) (b)and(d)  (4) (a)and(c)
First  electron  acceptor  of
photosystem-IT is :
(1) Ferrodoxin
(3) Pheophytin

In electron transport chain during
respiration  oxidation of one
molecule of NADH gives rise to how
many molecules of ATP ?

@) 2 2 3

(3) 24 (4) 36

Which of the following structures
represents the peptide chain ?

102.

(2) Quinone
(4) Plastoquinone

0 0
i
) — Ne=C~N=C-NH-C-NH-
i
O H
H 0 H
foul b Saseerefsl L]
(4) -N—C—C—C—N—(lJ—C—I;I g=C (IJ—
Y | |

@]

. A plant whose stem contains both
included phloem and internal phloem :

(1) Leptadenia pyrotechnica
(2) Salvadora persica

(3) Chenopodium murale
(4) Achyranthes aspera



106. = F1 o1 e Ieh HLGa! ST ! | 106. Observe the following statements

=9 e 5 and choose the correct answer :
a 39 Wd $ @ 9ed B9 ‘ a. Charles Febry and Henri
Buisson discovered the ozone
aaﬁg,;a;;aa et R o
b. T g 7 fewett | b. National Ozone Center is
21 I situated in New Delhi.
c. 3N IuEd H S HAU ¢. Chlorofluorocarbon is the main
FARGATBIEA ¢ | cause of ozone depletion.
(1) adq¥ic (2) aduTh % (1) aandc (2) aandb
(3) ba™ATc @) a,bd¥ic (3) bandc (4) a,bandc
107. ST IPRTEE (FEfi-) H EErud 107. Match the Wildlife Sanctuary (List-I)
S5a (@Eﬁ_mﬁ gﬂﬁaa Hife qen = with related District (List-IT) and
ﬁﬁm@ﬁaﬁmwwaﬁﬁq: cl_loose right answer from codes as
given below :
= -1 - List — 1 List — I1
a. TG fawurd i AR e a. Ramgarh Vishdhari i. Udaipur
b. HET THTG ii. Todtee b. JamvaRamgarh  ii. Chittorgarh
c. TG iii. St c. Sajjangarh iii. Bundi
4. s=ht iv. S d. Bassi iv. Jaipur
Codes : s :
& - b ¢ d 1 h b oo . d
(1) i iv il ii (1) l v 1l i
@ iv i i i | @ v i i i
Oy #i v b # oz e 0 SN W
@ i i F @) ™ BGCE W
108. TSHITSIH Plasmodium enters the human body
Y ST 7 as

(1) Ookinete (2) Sporozoites

1
(1) =ergsy (3) Trophozoite (4) Gametocyte

() qEEE  (4) T
109. ufew 3eared § Frafafaa & & foa
aEfE T % e gfg e

109. PGR of which of the following
chemical nature is helpful in wine

TG E ? production ?

(1) = (1) Terpenes

(2) R FT= (2) Carotenoid derivative
3) A g (3) Adenine derivative
4) e A (4) Indole compound

i
|
|
|
|
|
|
|
I
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110. waaThEl # yu & fawm & A

ST &1 HHE 8

(1) yu1 s fstefiertor & s < fore |

2) et ot =ifs 3% @ s9E &
fore e it axg HW HE |

(3) YUT I GO AT |

4) e g ¥ FEA
S3ATHTES 3R ATTGISIH FE
YEeH F ™ |

111. TFHEES U8 5[ I=aq T 8

(1) 9 (2) IR
(3) EIATO (4) =g

112. SHEcisiee d5w Figad wEl
Troge (sf.ug.dtiwm.) % FmEfeiead
gt § 8§ o g1, niiterfas @
SR Yac] 8 Siid R 1 HE=
ST ?

(1) e gEs
(2) e gER
(3) T T
(4) AT TEHT

113. Fr=fafga § @ gwewn amfm &t
FAATH B TR 2

(N Y g
@) z@fE
(3) &g HHTA

4) 4=

114. T o Wiowdu ufwedn it 5
ESHH HeAT % & UgeL 8
T FHTET T AT |
(1) Bed, meafi o
(2) W&, @ie Wi H
(3) Wi, grnfen 4
(4) &Riga, v H
05 (Science)
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110. In mammals the function of allantois
during development of embryo is
(1) To protect the embryo from
dehydration

(2) To act as cushions for any
mechanical shocks

(3) To nourish the
embryo

(4) Torid the developing embryo of
carbon dioxide and nitrogenous
wastes

111. The highest level
domain is
(1) Knowledge
(2) Evaluation
(3) Synthesis
(4) Comprehension
112. Which of the following version of
Biological Science Curriculum
Study Project (BSCS) approaches
the study of biology from ecological
and behavioural aspect ?

(1) Blue version

developing

of cognitive

(2) Yellow version
(3) Green version
(4) Red version

113. Which of the following is the other
name of concept mapping ?

(1) Mind Maps

(2) Visual diagram

(3) Word mapping

(4) Knowledge diagram

114. Coupling and repulsion hypothesis
which are two aspects of the
phenomenon called linkage, was
explained by :

(1) Mendel in Garden pea
(2) Bateson in Sweet pea
(3) Morgan in Drosophila
(4) Hutchinson in Maize



115.

116.

117,

118.

119.

R da s i wdiena |

EEE RIS

(1) mmETeRs — S.GE.
arfermm

(2) vfF T H - s TE. g
Euicay frenifes !

(3) THeqaI AT — JEG 9. AlaS
¢4 sl - @3 smgm

foam frgw & fafr el e
= & fafde i 3R wed €, S| =a
R

(1) Fwm fafy |
(2) e fafy
(3) e fafy
(4) e faty

frafafiga § @ <9 4 fasivar U@

AT SR | GEl T8I 8 ?

(1) e faenRi gro ferRm i st 2 |

(2) % favg eq I HHeE SEIT A
HeE AT § |

(3) U FeFarRId LAY | S=Tal 2 |

(4) 399 FTeATaTaTE i fGhrE el ¢ |

refafgadasa
1 ATH &

(1) @
(2) w&at -
(3) Toreor wfarferdt @1 Sger 3w
(4) Torgrepi o srga ferciig @

frafafigs 4 @ =« @ S5
Frfirgfer & fedrwar i & 2

(1) s

(2) Sifgs FeE

(3) N9 9NTE Fay | favarE

(4) Fiufevaw 4 fwam

l

|
|
|
|
|
|
|
|
|
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115.

116.

117.

118.

119.

Which of the following pairs is not
correctly matched ?

(1) Inductive — J.S. Bruner
learning

(2) Taxonomyof — W.H. Kilpatric
Educational
Objectives

(3) Concept — Joseph D. Novz
Mapping

(4) Heuristic — H.E. Armstrong
Method

The method of science teaching in

which teacher moves from general to
specific is called as :

(1) Inductive method

(2) Lecture method

(3) Deductive method

(4) Experimental method

Which of  the following

characteristics is not correct about

lesson plan ?

(1) Itis developed by students.

(2) It helps in orderly presentation
of contents.

(3) It saves

teaching.

It develops confidence.

from haphazard

)

Which of the following point is not

the advantage of team teaching ?

(1) Better utilization of resources

(2) Better planning

(3) Better use of
techniques

(4) Better financial benefits of teachers

teaching

Which of the following is not a

characteristic of scientific attitude ?

(1) Curiosity

(2) Intellectual honesty

(3) Faith in cause and
relationship

(4) Faith in superstition

effect

05 (Science)



120. Frerferiaa # & F1 @ & whew A

e farsreen 7€ 8 2

(1) fasde (2) <y

(3) aEgHsA (4) forqeraan

w4 w, 2005 Frfefiea o @

¥ At 8F1 W S NG

FATE?

A. e 3 faraa Breg

B. T@meeg it e

C. wfer

mgﬁmwmmﬁgq:ﬂ%aﬁg

g 3 ™ E, S T W e
T IR R

121.

&E :
(1) FTAATNB (2) FaaBaAAC
(3) FITATAIC (4) A,BTC

s ST H U N QU T

a1e, g+t Wifers 3mafdrsi =i

(1) 3wTeh e & fo sl dae T
Big & =Afey |

(2) i ¥ theh o =TT |

(3) R 3 Fréarer qara LA
=nfe |

122.

123.

124.

05 (Science)

120. Which of the following is not the
technical characteristics of a good test is ?
(1) Discrimination
(2) Validity
(3) Objectivity
(4) Cost effectiveness
121. NCF 2005 draws attention on which
| of the following other curriculum
areas :
A. The Art and Heritage craft
B. Health and Physical Education
C. Peace Education
Following are the groups of codes by
using mentioned above which group
of codes is best appropriate correct
group ?
Codes :
(1) Only A and B
(2) OnlyBandC
(3) Only A and C
(4) A,BandC

122. After completing an experiment in

science laboratory, all material waste
: should be

(1) left at your table for the next
class.
dumped into the sink.
disposed off according

teacher’s direction.
to be taken home.

@)
3)

to

4)
ional Policy on Education, 1986
reviewed by which Committee ?
Ishwar Bhai Patel Committee
Ramamurti Committee
Adiseshiah Committee
Sampurnanand Committee

)
@)
3)
C)]
The cone of experience developed
by Edger Dale is related to

(1) Co-curricular activities

124.

(2) Geometrical measurement
(3) Laboratory construction
(4) Appropriate use of teaching aids



125.

126.

127.

128.

fraffiga & & == @ fiseha
g & g T8 8 2

(1) w@rfa = g

(2) e st F e

(3) W3 TQ W G

(4) T IFHA 1 g
fererert # e S0 TR S I & -
- e arfrgft fasfa e
Y TN B TR T
Sefae ot Tl s
QTR0 FEHIA & ToTU IFTEhdl
AT

IRF A R R i AR R F IR
3 51 @ ? T @ waffees 3uge wd
e THE T 994 I ;

(1) I AT C

(2) FIA A, CaATD

(3) ®ad BA¥ID

(4) A,B,CTaD

gowp

Tad Ud =% gedied (15 ®
Tesiftres & o it 2

A. Sied Hive

B. i R

C. ¥ Td NeEH Hell
D. 311‘?1'{%

® e, Sﬂﬁ@l :

1 999 HIT |

(1) A, BaaC  (2) A,B,CTAuTD
(3) A, BaaiD (4 A.CTD
frafrfiga § @ =\ 1 yrgE=al wRA
%l g T 2 2

(1) FAEAGH Higaar 1 Fg=
(2) TEarE 1 g
(3) wET <ht QuiaT 1 g
(4) wfeT F1 g

|
|

%

£

|
H
|
|
|
;
|
!

N
o

125. Which of the following is not the
principle of programmed instruction ?
(1) Principle of self pacing
(2) Principle of immediate
confirmation
(3) Principle of big steps
(4) Principle of active responding
126. Objectives of the organisation of
Science Club in schools are as
follows :
A. To develop scientific attitude
B. To cultivate the leadership
qualities
C. To develop scientific interest
D. To bring awareness for
environmental study.
Following are the groups of codes as
mentioned above, select the most
appropriate correct group of codes :
(1) OnlyAand C
(2) Only A,Cand D
(3) OnlyBand D
(4) A,B,CandD
Co-Scholastic areas of Continuous

and Comprehensive Evaluation
(CCE) includes : -

A. Life Skills

B. Work Education

C. Visual and Performing Arts
D. Attitude and Values

Following are the groups of codes as
mentioned above, select the most

127.

approptiate group.
(1) A,BandC (2) A,B,CandD
(3) A,BandD (4) A,CandD

128. Which of the following is not the
principle of curriculum organisation ?
(1) Principle of teacher
centeredness
(2) Principle of correlation
(3) Principle  of totality  of
experiences
(4) Principle of flexibility

05 (Science)



129. freifera & @ wia =t fgor sggEa
EECEIE R
(1) gfgrST g
(2) SETEAH SEEAT
(3) Rt STgee
(4) gEma g

frafafea § @ == € T frew §

fififfare sorm i waifte 3ugw

ferwar 2 2

(1) HAAR BET &1 AfaiE FEgRar
IueTed] AT |

(2) wwEn gagE # fafie o
T 1 ST |

3) TaRiEt 1 svas Afam
IueTed HAT |

@) faeafiat = sftrefts s
- At I9ere AT |

130.

I fafy % St = 5 w= °

M

HThal 1

GUET HT
Hi—o>ii>voi—iv

131.

i.
ii.
iii. wfeheaAT Shi STEAT
iv. Tresd e
TiEhedH T ST

.
e
(1
2
3)
(4)

05 (Science)
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129. Which of the following teaching
strategies is a democratic teaching
strategy 7
(1) Project strategy
(2) Explanation strategy
(3) Programmed Instruction
(4) Illustration strategy

130. Which of the following is most
appropriate characteristics in context
of constructivist approach in Science

teaching ?

(1) Providing additional academic
help to only weaker students.

(2) Applying different formulae in
solving problems.

(3) Providing experiential learning
to students.

(4) Providing more and more study
material to students.

131.

Arrange the steps of Scientific
Method in correct sequence :

i. . Analyzing data

ii. _Selection of problem
iii, Testing the hypothesis
iv. Drawing conclusion
v. Formulation of hypothesis
Codes :

(1) iii>ii>voai—aiv

2) i»ii>ivoii—>V

B) li>v—oii—=>i—>iv

@) iisili>voarivori



132.

133.

134.

135.

136.

R ) M
(1) 0 (=) 2) A2_B?
(3) AxB @) 2(BxA)

21 U U1 T AT v = At + B2 8, T&f
A 9 B Traiss &, al 39 g1 1s 9 2s
FuEm a3

B
1) 5+3 (2) %A+4B

7

@) 3A+3B

3) 3A+7B 3

TR AR T SR X I AR &
AT 20 m/s ¥ HHT @R S Y H
0.1s T99TG THUAT ¢ | g XY @
(g= 10 m/s? #fS)

(1) 0.05m
(3) 0.5m

(1) 3m/s?
(3) 0.5 m/s?
gfe ue Wi Uiy i femmd MPLET®
¥ guits & a1 vitferss wiv gfi

(1) saafga=0,b=-1,c=-2
(2) e=3Ra=1,b=—1,c=-2
(3) IMARa=1,b=0,c=-1

(4) @WIRa=1,b=1,c=-2

() 2m/s?
(4) 5m/s?

I
1
|
|
|
|
|
|

28

132

133.

134.

135.

. The value of (K+E) X (K—E} is
(1) 0 (zero) (2) A%2-B?
(3) AxB @) 2(ExK)

If the velocity of a particle is
v = At + Bt?, where A and B are
constants, then the distance travelled
by it between 1s and 2s is

A B 3
) 3+3 2) 2A+4B
3
(3) 3A+7B 4) §A+%B
A dart is thrown horizontally

towards X at 20 m/s as shown. It hits
Y. 0.1s later. The distance XY is
(Take g = 10 m/s?)

(1) 0.05m
3) 0.5m

() 1m
@) 0.1m

Find the acceleration of 3 kg mass
when acceleration of 2 kg mass is

2m/s? as shown in figure. (spring is
ideal)
10N

3 kg FowwTRTe2 ke—

136.

(1) 3m/s? 2) 2 m/s?
(3) 0.5 m/s? (4) 5m/s?

If the dimensions of a physical

quantity are given by M2LPT®, then

the physical quantity will be

(1) Forceifa=0,b=-1,c=-2

(2) Pressureifa=1,b=-1,c=-2

(3) Velocityifa=1,b=0,c=-1

(4) Accelerationifa=1,b=1,c=-
05 (Science)



137. 12 ny/s 97 & wifosfier 4 kg g
% 6 kg GEIAH & fRR Feq ¥ eamt
Ht 7 | A TRt & wvETd of aeql
T g & faus St &, a) e it
et St § B R

1) =
(3) 172.81]

(2) 2887
(4) 1447

138. fua # guit 3w v wwaue 3@
Ml v m/s % SAFFIO 37 & famr
fhaat diieft mfd s w1 2 | ARk 3@

A a1 T Fe1 B al v EHT =18

s

10
(1) a@@ @ 2¢h

(3) 22gh (4) <.2gh

o1 i gl arem <t v e @i
T m SoHHH & &oTeh A 3¢l & | e
% CIeIA &1 SHieT BT

pY—>

139.

m

1) T=2 ‘/_
(D) n -
i e s

3) T—2n1/2k 4) T 2n1f4k

& T8 # 9a g Gt A ? 1 3fe
B 1 mm &9 ¥ fog 10 Nvd
JMETTS & df F& &t 40 mm @i |
Trar T o ? (9% W o 6 B
TS )

(1) 23]
(3) 1801J
05 (Science)

140.

(2) 687
4) 87

137. A body of mass 4 kg moving with
velocity 12 m/s collides with another
body of mass 6 kg at rest. If two
bodies stick together after collision
then the loss of kinetic energy of

system is
(1) Zero (2) 2881J
(3) 17287 4) 1447

138. A uniform solid sphere is rolling
without slipling on a surface as
shown in figure with a translational
velocity v m/s. If it is to climb the

inclined surface then v should be

(1) z\@gh @ >7gh
(3) =2gh (4) <42gh

139. Two identical ideal springs are
attached to a block of mass m as
shown in figure. The period of
oscillations of system will be

o ity i

a(l) T—ZE‘[: T 21,—.‘]?

s e L)
&) T—ZR\(; @ T 21:‘/;

A spring is stretched by a force. IF 10N
force is required to stretch the spring
by 1 mm, then work done in
stretching the spring through 40 mm

140.

is (Assume spring to be ideal)
(1) 233 (2) 681J
(3) 180J 4 81J



141. vl i 5= e Rg et s wspan
2, FE &

(1) WL
(3) =fEH

(2) FETRHL
(4) &g

m SSFHT ! T MR 71g fohelt 3o
za | v, dmr=a 4 @ foefi 2 | 59
g 1 8 m ZoAAM Y I MATR g
(5o e ) % i s an @
M) v, () 4v,
(3) 8v, @) 27v,

142.

T & T FHuEe § qrt % 9N o
za g H1E a% dedl § | 39
FRU B HHATE

(1) s gt < 3 e A R |
(2) &9 a9 I a9 d 2 |
(3) 9 1 I8 I 59 F ARG A ¢ |

143.

(4) T T B TS 3 3 e S # |

40% &A1 %1 Teh B! 3 500 K ard
o Eiq @ HoAT AT & | I 60% GEar
& S S i Wéam
e aru & R g =1
(1) 600K
(3) 1000

144.

145. m SS5H 1 T IUUE Yt & 91 3
2R, s HgaemHa iR 1T 4R,
Torea & TR e | TR B

% foru fraft ol sEwEs 2 2
(-Teca =)

ng ng
(1) E E

@

3 (4) gmRg

E%E

i
|
|
|
|
|
|

141. Substances which can be stretched to
cause large strains are called as
(1) Brittle (2) Elastomers
(3) Plastic (4) Metals

142. An spherical ball of mass m falls in a
viscous liquid with a terminal
velocity v,. Another spherical ball,
same material of mass 8 m will fall

through the same liquid with a

terminal velocity of
1) v, (2) 4v,
(3) 8v, 4) 27v,

143. A liquid rises upto a height greater
than that for water in given capillary
tube. Its reason may be that
(1) the liquid is more viscous than

water.
(2) the temperature of liquid is
higher than that of water.
(3) the surface tension of water is
less than that of liquid.

(4) the surface tension of water is

more than that of liquid.

A Carnot engine whose efficiency is
40% takes in heat from a source at a
temperature 500 K. If it is desired to
have a Carnot engine of efficiency
60%, then the source temperature for
the same sink temperature must be :

144.

(1) 600K (2) 750K
(3) 1000 K (4) 1200K
145. A satellite of mass m is in a circular

orbit of Radius 2R around the

Earth. How much energy is required
to transfer it to a circular orbit of

radius 4R ?

(g—acceleration due to gravity)
gmR gmRy

i ) o
gmRy,

G —5 (4) gmRg

05 (Science)



146.

147.

148.

149.

150.
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2 R FE: 360 nm T& 480 nm T ]
Sof wr aifean fafewm s wd |
£ | 3% Tl I IEIM & E
(1) 12 (2) 34 !
(3) 43 4 2:1 |
ag T o, I SR |
w S n, FEES A e |
gt & S & | n, 9 n, % T HE l
g 8

(1) n;=n, 2
(2) n,<n, Lﬁ%

(3) n,>n,
(4) FE T TR |
af B, qun V,, Tet =mereh i g W
ENE ﬁgﬁ-@jﬁ'ﬁ 87w feRd-
oifees fava & | a5 TR & forg
AT % A T EE FUA 9T |
M Eoﬁﬂﬂ%ﬁmvoqﬂaﬂ'&%|
(2) vyt FEEA  E, WA 3 R |
(3) wTes i wfi o v, e R
@) V, IF ¥ F3 § W€ @
i g e |

Rz # efe SR Y, ATB S

| o
(1) 14F @) 24F
(3) 4pF 4) TuF

1
|
i
ot 6 SR o oted WA |
B L .3
S0 W AR 20 J HE SR | TG |
A Sl 8 ‘l

|

(1) 507
(3) 15071

() 100J
(4) 2007

146.

147.

148.

149.

Two stars emit maximum radiation at

wavelength 360 nm and 480 nm
respectively. The ratio of their
temperatures is

(1) 1:2 2) 34

(3) 43 4) 2:1

It is found that a glass lens of

refractive index n, disappears in a

trough of liquid of refractive index

n,. The correct relation between n;

and n, is

(1) n=mn

(2) n;<m

(3) n>m

(4) Information is insufficient.

If B and V are electrostatic field and

electrostatic potential on the surface of

a conductor respectively, then choose

correct statement for these quantities

over the volume of conductor.

(1) E,is constant, Vg is variable.

(2) E; is non-zero everywhere in
entire volume.

(3) Vjis throughout constant in the
conductor.

(4) V, varies from centre to surface

of conductor.

The equivalent caﬁacitance of the
combination, as shown in figure,
A and B.is

TuF 2uF 2pF 24F

=
2p.FTl pfrl }.LFTILLE“T

(1) 1pF @ gﬁl?
(3) 4uF (4) ZuF

The average degrees of freedom per
molecule for a gas is 8. The gas
performs 20 J of work when it expands
at constant pressure. The heat absorbed
by the gas is
(1) 507
3) 1501

(2) 1007
(4) 2007
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